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SectionA : 'Multiple Choeice Questiens. (60-marks)

For each question from 1 o 30, four options are given. One of them is the most suitable
answer. Make your choice (1, 2, 3 or 4).on the Optical Answer. Sheet.

1. Which one of the following statements is true about green plants? -
(1) Green pianis do net make feod.
{2) All green planis respond 1o sunlight.

{3) All green plants depend on animals for food.
(4} Green plaits can only reproduce from seeds.

2.  The diagram below shows the life cycle of a cockroach and a mealworm beetle.

egg cases

Life cycle of a cockroach - Life cycle of a mealworm beetle

Based on the Jife cydles above what is the difference between the life cycle of a
cogkroach and a meslworm beetle?

(1) The cockroach goes through moulting but the mealworm beetie-does not.
(2) The cockroach lays its eggs on land while the mealworm beetle fays its eggs
in water.
{3) Thecockreach has a two-stage Jife cycle but the mealworm has-a three-
- slage- hfecycle
4 '?'he young ofa cackroach resemb[es its parent but the young of a
mealwoérm does not resembie fts parent.
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3. Which one of the following flowcharts bélow best represents the path taken by

ihe food we eat?
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4. The diagram below shows the stages.in the Jife-cycleiof.a flowering:plant: A and
B represent the processes that take p!acebehmeen each.stage of the-life cycle.

2 Adult \

Seedling . B Seed

4

Which one of the following correctly represents -processes A and B?

A B .

@) potiination fertilisafion

{2) fertilisation _ pollination

(3) fertilisation - gefmination

(4) germination pollination

5. Jerome carried out the following steps in an expeifiment.

Step 1: He filled ﬁye- ﬂqysrer pois made of the saine material. but of different
sizes with“ih same amount of garden soil.

Step 2: He pIanta if the same type of Seeds in each. pot

Step 3: . He placed ihe pets ‘next to one another in the garden

Step 4: He waltered the pots with the same amount of water daily.

Jerome is trying to find out if

(1) sunlight is necessary for phetosynthesis
(2) overcrowding affects healthy. plant growth
(3) water is necessary for heaﬂhy plant growih
(4) the number of seeds aAffects the rate of photosynihesis
CHSISCIP5ISA 2 _ Page 3



6. Alfred wanted- to-condddt'anréxperiment'to show that pldnts rés;i_ir_e‘ in'the dark_-
Heéset-ip the. experimeéntin-a brightly-lit foom“as’ shown below.

black. -
box

plant

| limewater

Which one of the foliowing set-ups should he use as a control?

) 2)
r . glaSS | gl?lSS
5 box box
T plant — o
— limewater

(3) 4

N black ]

bBox

stick

~4— plant
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7. The graph below shows the changes in Alexander’s breathing rate whenhe was
walking. Soon after he started running.

(0
»

[l

Breathing rate / minutes

v Time / minutes

Which part of the graph represents his-breathing rate just after he stepped
running?

(1) AB
(2) BC
(3) CD
(4) DE

. ———————— ———————
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8. Study the diagrams below:carefuily.

outertube A
cut stem with

.tubes A remoaved
inner tube B

Y

Cross-section of stem

Cut stem

The cross-section of the stem of a plant shews two different sets of tubes, A and
B. if the stem is cut in such a way that only the outer tubes A-are removed as
shown above, which one of the diagrams below show what will happen fo that

section after three days?
O | @
' X
Y
(3 (4)
X X
Y )y




9. The diagram below shows the blood:vessels in a human:cirsulatory systém.

Blooi, flowing from

the'heart to alibody
paris

Bload flowing 1o
the heart from
all body paris

—t—— Sample B

Sample A

Blood samples, A, B and C, were taken from different bloed vesselsiin the body.
Which one of the following bar. graphs shows the amount-of-exygen in the-blood

samples?
F 3 4
(1) o 2 -
o ®
o)) - o
- 2 ’ o
£ 3 8%
c = -3
=3 LA 5
O - 3
< - g
A B ¢
©) )
{L - A
‘E’, %
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3 =< :
C h 2
é E j
= < ] R
i A B C A B ¢
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10.

Rosnah left three similar pots ot plants.in-a dark rooii for thrée days and watered
them daily. She then put the pots of plants in the three set-ups shown below and
left them In an open field in the afternoon. The solution in each set;up-served
different finctions.

bell jar bell j’ar'

Set-up X

Sg_t::up Y

solution A solution 8 solution C

After 6 hours, Rosnah removed a leaf-each from the sel~ups X, Y and Zand
labelled them as X, Y and Z. She' condutted a starch*test oheach of the leaves
and recorded the results below.

L eaf Colour of iedine
X __dark blue
Y dark blue
7 browii

Which of the following would solutions A, B and C mest jikely be?

Solution A Solution B _ . Salution C .

(1) | chemical that absorbs chemical that absorbs
o water .
carbon dioxide - o>9tgen
(2) chemical that absorhs chemicail that absorbs vinegar aking

soda to preduce carbon

water vapour oxygen
(3) vinegar with - baking R .
: chenﬂcal-fﬂ}at abgs_(;)rbs
water soda to-preduee carbon sarbon dioxide
dioxide ' _

{(4) vinegar with baking
soda to produce carbon
dioxide

chemical that.absorbs

water
water vapour

CHS/SCIPSISA 2 Page 8




11. Andy coated the stem and both.sides of.all-the leaves:of a piant-with-a layer of
oil. One week later, he noticed that the plant had turned yellow and died. This
happened because the plant was unable to

oowe

fake in oxygen for resp:railon

take in carbon.dioxide-for photosynmesls

take in water vapolr from thé. surmundmg air
abserb light energy from the sun e’ photosynthesise

D only

A and B only

A, B-and D only
B, C and D only

12. The table below compares the parts.between Celis X and Y.

Cell X CellY
noeleus ._absegnt =
cell wall. absent
chloroplast absent
cell membrane present ]

Based on the infenmtion provided in the table. which Statemients are frue?

A Cell Y does not have a regular shape.
B  Celi Xis unable to make its own food.
C  Both cells allow some substances 1o enter and exit.
D The part of the cell which contains the genetic information of the cell is
absent in Cell X but is presentin Celt Y.
{1} AandB only
(2) AandC only
{3) A,BandD only
{4) B, CandD only
CHSISEIPEISA 2 Page 9
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13.  Thediagram below shows the cross-section of a flower.

Based on the diagrain, which of the following statement(s) about the flower is/are
correct?

At has only male reproduciive parts.

B The fruil of the plant has more than four seeds.

C  The petals will-drop-off after the:pelination process.

D  The pellen grains used for fettilisation are transférred from anothier. flower.

(1) Bonly {1

{2) AandDonly
(3) BandC only
(4) B, C andD only

P ., - .. -
&3

CHSISC/P5ISA 2 T Pagedo




14. Some students observed three species of plants. growing-in an.open field-as
show in Diagram 1. Six months lafer, the students observed the same plants and

recorded the changes as shown in Diagram 2.

Diagram 1

' Diagraih 2

Which of the following best describes how the seeds of plants X,Yand Z are

dispersed?
Plant X PlantY
{1 wind ‘explosive action vater
V4] water wind .- expies%v@é; action
(3) water animal wind
4 explosive action water wind

15.  In which par of the human respiratory system does the exchange-of gases takes

place?

(1} Nose

(2) Mouth
{3) Airsacs
{4) Airtubes

_ CHE7SCIPS/SA 2
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16.  Jasonused the suoking: mewmod-and made-a-nail Into'a ternporary. magnet.

B o e
T e T T

Hethen placed the nail near a compass. Which one of the follewing would he

observe?
(1 2)
{3) (4)

‘Page 12
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17. Cerinne has four-metal bars E,.F, Gand H and-a:bar.magnet: She:wanted:to find-

magnet o the ends of each meta! bar.

ottt which' of the metal-bars are magnets. She-brought the nosh:pole.of th bar

E . |IX Y
F Ix Y - bar magnet .
N
G | X Y
H X Y
The table below shows what Corinne observed.
Observations
Metal bar _ T a
North pole and end X | North pole and-énd Y
E No reaction No reaetion
F Attracted Repellés
G Repelied Atfsatled - -
H Attracted Atiracted

Which one of the following statements about the metdl. bars is correct?

{1) Bar Eis a weak magnet.
(2) Bar His made of copper.

(3} Two of the metal bars are magnets.
{4) None of the metal bars is a magnet.

e —

CHEISCIP5SA 2
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18.

19.

CHSISCIP5ISA2

2 Q5

Q,P, 8 R
P.R
R,P; S, Q
R,S,P,Q

T

‘Arrange the materials in descending order of hardness.

the table below.
Type of material Presence of scratch "rizé}'ks oﬁ"rr_{?teiia:s
used to scratch p Q R o
. y | =
Q 7 v | v

Step 1 | Pour 150 mf of-iced water into-oné beaker.

Step2 | Pour 150 m/ of hot water into the other beaker.

Step3 | Add 6 teaspoons of salt into each 'be"a-ker_

Step 4 $tir the mixfure ata congtzf\nj rg!e and measure the
time taken for th_e_ salt to dissolve.

)

" type of liquid

temperature of water
amount of salt added
amount of watérased

The aim of Julia’s experiment was to find out if the
time taken for the salt {o dissolve.

Susan wanted to compare thie-hardhess of 4 typss of materials; P, Q "‘Rand S.
‘She’ conducted a scrafeh tést on:the matérialsand recofded her observations in

Julia wanted to find-eut:the factors affecting how-salt disselves in water. She
used two identical. beakers in her experimeént ; and. fo!lewed the steps:-below.

attects the




20.  The table shows the melting.and.beiling points of 2 substances, V.and:W.

Substante.,

.. Melting point./ °C

Boiling-point / ‘;C

v

25

W

14

Mvhich ene of the following shows the correct state of substances V and W at

12°C and 498°C respectively?

~ Substance V Substance W
12°C 498°C 12°C 498°C
(1) solid liquid tiquid solid
(2) solid gas liguid gas
{3) liquid solid solid gas
4) lguid gas . ‘solid fiqusicd
CHEISCIPSISA2 — =



21.  Jasom has 2 objécis, A-and B: He huiig theth froin the ‘ceiling and phiced a'torch
and the-objects in a straight line in a dark room as shown below.

torch

The diagram below shows their shadows on the screen when the torch is
switched on.

Which one of the foliowing objects are' A and B?

A ' B
) opaque fing opague Cross
(2) opaque cross opague 1ing
{3) transparent ring ' opaque cross
{4) iransareﬁt Cross opaque Ting

CHSISC/P5/SA 2 ' - Page 16




22. Stuﬂy the diagram.below: carefully..

The girl sitfing by the window is able {o read because light given out by the

(1)
@
(3)
)

- .. '- . -

book is reflected frem the gir's eyes fo the sun

sun is reﬁecfeé from the gu’l s eyes to the book

gitl's eyes is réflested from tiie sun to hie beok
sun is reflected from the bock: io the gtrl’s eyes

CHSISCIPSISA 2
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23.  Jenny conducted an experiment to find out hew much'light can pass through 4
different materials U, V, W and X using a datalogger with _a_.ligt_;@.s_ensor.

1000 -
900 -
"800 -
700 ]
600 -
500
496 3.
300 A
200
100 -

) : : : | - .

U v W X
Materials

Amount of light detected by light
sSensor/ units

Based on the graph above; which ene of the following statements is true?

(1) Material V allows somé light 1o pass through.

(2) Material U allows more 'Ijg'ht to. pass through than Material X.

{3) When Material U and Material V are placed one behind the other, no light
can pass thréugh.

{4} The total amount of light that can pass through Material U and Material W
when they are placed one behind the other is 1300 units.

GHSISCIP5ISA 2 PAGE TS




24.  Difterent shaped containers op a conveyor.belt.pass under-a Tunning dap:-The
conveyor. belt is moving at a constant speed. The water flows at a constantrate
and none of the containers fills completely.

running fap
side view wn I@“
conveyor belt 5 il
container
' running tap
top view of . ‘ ‘
conveyor beit -.<l
w X Y Z
Which container has the grealest volume of water in it after they have all passed
under the tap?
(1 w
2) X
3 Y
4 Z
CHSJISCIP5/SA 2 ' T Page 19
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James had a rod made of 2 différent matérials,-P-and Q, as showi in ihe

-diagram.

white paper

James passed the flame of a candle over the white paper several times.

After a while, James observed that only T (the end of the white paper nearer fo
Q) was scorched as shown in the diagram.

white paper  scorched

Which one of the following reasons best explains. why T was scorched?

(1) T retained more heat as heat travelled from P to-Q.

(2) P trapped more heat than Q so less heat was transferred-to T.

(3)  Qwas a befter conductor ofheat than P so more. heat was abserbed by T.

4) Q was a poorer conductor of heat than P so heat was conducted slower
away from 7.




26.  The following statements show the different phases.in the water cycle. However; .
they are not arranged m the.correct seaiience,

Rain falisde the earth..

Water vapour 1ises and cools:

The clouds become heavier and heavier.

Water evaporates frem the seas, rivers and iakes.

Water vapour condenses o form small droplets of water.

maoow»

Which one of the following shows the correct sequence of the water cycle?

{1 i 4]

(3} “)

bz



27.  Jack observed the temperature of | pure water in a beaker from*lhe hme |t was
taken out of the freezer with a-tempétaitire of 8°C fill i finia it reached the
room temperature of 25°C. He recerded the ebservahons in a graph. .
Which one of the following graphs is correct!y plottsd by Jack’?
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28. The diagram below shows a set-up in which water changes frem-one state to

another..
\ _glass sheet at 30°C

beaker
water at 56°C

Which of the following will most likely result in an increase in the amount of water
droplets formed on the glass sheet?

A Add ice into the water

B Use a colder sheet of glass

C increase the teniperature of the water

D Use a-beakerwith-a greater exposed surface area

(1} AandD only
{2) BandC only
(3) B,CandD only
{4). A, BandDonly

CHSTSCIP5/SA 2 ) o ' Page 23
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29.

Four pupils set up two circuits. Théy placed malerial P in the same'pésifion in the

‘circuits-shown below. They recorded their observations in the table below.

Set-up Observations

1. Bilitup
2. B2 did not light up

B2
A ]
Circuit 1
A

i:"BTlitup .
- 2. -B2:did' notlight.up

Circuit 2

Based on their observations above, each pupil gave a reason why B2 did not
light up.

Jessie: The filament in B2 is fused.

Mark: P was not a conductor of electricity.

Sharon; P was not connected to the circuit properly.
Julien: B1 was not properly connected 16 the circuit.

Which of the children made the correct observation/s?

(1) Jessie only

{2) Jessie and Julien only

(3} Mak and Sharon only

{4) Mark, Sharon and Julien-only




30. Four copperwires, U, V, W and X, run through a sealed container as shown
below. One of the copper wires was broken and Alvin used a circuit tester to find

oul which wire was broken.

circuit tester

A
i

sealed container

He connected wires U, V, W and X with a copper'wire as shown.

sealed container

'———-(U U )

1V \Y; copper wire

— W W

0——‘—\X X

He recorded his observations in the table below.
“Wires circuif tester was connected to Result

Uand V bulb did not light up
Vand W bulb hit up
U and X bulb did-not fight up
Vand X bulb it up

Based on his results, which copper wire in the sealed container was broken?

{1 U
2) V
{3) W
4) X
- End of Secion A -
CHSISGIPSISA 2
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Section B : Open-Ended Questions (.40 marks-)

Read the tollowing questions:carefullv-and.write vour. answers in.the.space provided.
The maximum marks that can be awarded is_shown.at.the.end -of-each-question or part-
guestion.

31.  Benjamin was asked to classify the following animals into two groups based on
thelr characteristics. ' -

'Bat Seal Penguin ‘Platypus - Parrot

He realised that he could classify the animals in 2 different.wavs.

Chart 1
(a) Write the headings for the classification chart below in the boxes provided. [1]
Bedy Covering
l
[ |
0 (i)
f f
Bat ' : Penduin
Seal Parrot
Platypus
Chart 2
(b) Benjamin then classified the animals according to the way they moved. Place
the above animals in the correct boxes bBelow. 1]
Mevement
Ei
i !
Fly Swim

EHESTIP5/SA 2 D  Page?6




32. Some scientists wanted to study the digestive systéni-of Animal Y. They fed”
Animal Y with the same amount of Foods P, Q and R over 3 days. The table

below shows the type of food-it wis Ted bver thE F davs.

| Fed-with.
Day 1 Food P
Diav2 - |FoodQ
Day 3 Food R

Animal's'Y dfgestwe system was checked at specifie fimes each day to find out
how much focd had been digested.

The results were plotted in the graph below.

100 —
> 804 N R .
! p \
8 604 )
2 \ N ~——Food P
= \ : \ Ermd-
o 40 4 \ . — - -FoodQ
; S \_ — — Food R
20 - \ \
\ .
\ N,
0 T L}
A B C
Organs in the digestive system
(@)  Which of the Foods P, Q and R was not digested at all? {1}
(b) Based en the resuits above, explain your answer in (a). [1]
{c) State another variable that must be kept the same to ensure a fair test. {11
CHSI_%’@QH%/SA 2 , Page 27
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33.

{a)

(b)

Ravi wanted to find:out whether.the activities he was engaged in-would affect his-
pulse rate. He recorded his pulse rate using a pulse rate monitor banded across
his chest. During this périod of his recording, he played tehiis, rested, walked
back to his flat, read a beok and. napped.

Ravi plotted a graph as shown below that showed chag;ges to his pulse rate.

Pulse rate / beats per minute

| ! ! ] | ! |
0 I I 1. 1 1 i i

1100 1200 1300. 1400 1500 1600 1700 1800. 1960 2”(3
T&me (hours)-

Which pari(s) of the graph represent(s) Ravi’s puise rale when he was playing
tennis? Explain your answer. [2]

Ravi's sister commented that he had plotted his: graph wrorgly from 1800hrs to
2000hrs. Do you agree? Explain your answer. 1

e S e e— = Y A P——
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34.  Thediagram below shows d cross-section of the stemof the potted.-plant.”

(a)  Identify the paris labelled X and Y. [11

i X: (i) Y:

Amindah saw her neighbour’s rose plant flowering. She wanted to have a pot of
rose-plant-as well and' requested for a stalk from her neighbour, Mis Lim. She
plucked oot @ stalk ‘and breught it home. Despite giving water and receiving
surilight as shown in‘the picture below, the stalk of rose died.

Mrs Lim's p.pt.of.rfx_)ser;plant

SISC/PEISA 2
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{b)  Explain why the stalk of rose that Amindah plucked was not able to survive.  [2]

{c) ltis observed that the forist would always cut diagonally at the ends of the flower
stems as shown below. -

Magpnified version of
the end of stem

Suggest a reason why thisiis.a common practice 1o cut the ends of flower stems.

[1

CHSIEC/PEIBA 2




35.  Aderrarium is-a sealed. confainer that contains plants planted mainly in'seil.

i— plant

would survive even without being watered for three:Weeks Based on the idea
behind a terrarium, he watered his plants and placed them in a structure as

shown below.

David was gomg away on a vacation and wanted io=ensure that his potted plants

Clear plastic sheet
that seals the plants
within
potted plants —— |
Explain what will happen tgDavid’s plants after three weeks. {2}

. .

CHSISGIP5/SA 2




36. The diagram below shows how food and air-are transpoited in the human body.’

Air ————» SystemX [~————> Exhaled air
= 1_ - ' e -
oo
i W
v \
B —»| All parts of
SystemY [ ——=—- thebody
F 3
Food - » SystemZ | Legend
—————¥% Pathway of gases
Pathway of food
(a) ldentify the following systems: [11
System X:
System Y:

{(b)  One of the gases found at W is needed for an important process in plants. Name
the process and state how-this gas is important fo plants. {1

:{9}' Describe one difference -beiweén the airatWand V. [1]

. . A e e = T :
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37. Lisa realised that she was able to roll her tongue just like hier meéther does.
However, her father was unable to do so.

(a) Which part of the cell controls her_ability to.yoil her iongue? 1

{b) Study the following family tree and answer the questions which follow.

0 o 09
OL, DR

(i) ‘How many siblings does Jon have? [t]
(i)  How many nieces does Jon have? {1}
3
CHSISC/P5/SA 2 ' -+ Page-33



38. Elame had two identieal.coniainers, E and F, .of equal. capacity of 1500, em® each:
She placed them-oh a balance as shown in the diagram befow.

(a)  Describe what:Elaine would observe when she pumps in another 1000 cm® of air
- into container E. 1]

(b) What would be the volume of air in container E after Elalne had pumped in the -
1000cm? of air? Explain your answer. {13
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30. Maik was standing by the’ side of the road wamng for his fiendto’ pick him up. He

suddenly noticed that iéHiad-in d'WS ‘as 'shown Below! -

(a) Explain why Mark had two shadows. i
(b)  How are shadows formed? ' [1]
2

CHS/SCIPB/SA 2




40.

(a)

(b)

Mary installed a heating element inside a glass container.-She filléd the container
with seme coloured gas and swiiched on the heater.

heater —

After some time, she saw the coloured gas moving in the directions as shown in
the diagram above.

What conclusion can Mary make about air based on her observatién? [1

From the abeve conclusion, explain why an air-conditioner is usually placed near
the ceiling and not the floor. ' [2]

CHSISCIPEISA 2 ‘Pige 36




41.  Mary took out some ice cubes from thedreezer arid-Jaid-thern o' tie tdble: She
observed X above the ice cubes as'shHown'below.

l A Bl 34— ice cubes

(@) Whatis X? [11

{b)  Explain how X is formed. [1]

The misfing fan, as seen below, is equipped with special spray nozzles that
release mist in-frontof an a

The mist is propeiled by the air flow fr_éim the fén.and tr»évels through the air,
causing the surroundings to feel céelef.

(c) Explain how the mist causes the surrounding air to be cooler. ' 2]

CHS/SC/P5/SA 2 T T T T Pagest




42, Ken was.on a winter hohday The family got into the ear inthe morRing - and his -
father turned on the heater. After a w‘mle Ken noticed that the windsereens and

windows of the car had become misty.

. Ouiside temperature
Temperature was 2°C

inside the car
was 25°C

(a)  On which surface of the windscreens and windows would Ken find the mist?
Explain yeur answer. 2]

{b)  Besides wiping away the mist, Suggesta way that Ken’sfather can ¢lear the
windows and windscreens. {1]

CHSJSCIPEIEA 2 ‘ | " Pagé 38




43.  in the diagrams below; the ceiling Jarnps ‘can bé connected in‘two differefit ways "~
in an-apartiment.

(a) Mark a cross ( X ) on.the-electiical circuit-in-diagram:tto-shew-the-pesition-of a
switch that only stops the bathroom-famp;ffofi werking when it is-switched off.

o (1]
poweérsiipply
Diagram 1 S "
bathroom | ) e o
[5 - ' "1 Key:
Zl D La:_'np
= Wall’
bedroom | [living room — Wire
Diagram 2 power SUPply "
B -
bathroom 1
I\
L X
bedroom I living room
{b) Compare diagrams 1 and 2 and explain which is a betier way to connect the
lamps in an apartment. i2]
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44.  The diagram below:shows 2 circuit. The table:shews what ‘happens tothe light
bulb wtien four rods, A, B, C and B; were-conriecied, one:at atime; tothe contact

points X and Y.
® Red Did the bulb light tp?

A " No

B Yes

C No

Y

D Yes

(@) Based on the resulis above, what can you conclude about the rods? 1]
1

CHS/SCIPSISA2 Page 4




in another experiment, the same four rods; A, B,-C and-D;were-placed-at

different positions; S1; $2,-S3 and 34, inthe following &ircait-"" -

— _@m

'—_[ X

- St
] L ?
)
e
S3
9 L 4
[ g
S4 g
+ - -
B3
b) Complete the following table.
Put a tick { v ) in the appropriate box to show whether the bulb would light up.
i
Position of rods Buibs
S1 82 S3 84 B1 B2 B3
D B A C
c)  The rods were rearranged and all 3 bulbs lit up.
Wiite letters A, B, C and D in the appropriate box below. Each letter can only-be
used once. i
Position of rods Bulbs
S S2 83 54 . B1 B2 B3
! v v v |
_ i L
- End of Section B—
2 -
e =
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Answer

EXAM PAPER 2012

SCHOOL : CATHOLIC HIGH
SUBJECT: PRIMARY 5 SCIENCE

TERM : SA2

Q1021 Q31 Q4{Q5]| Q6| Q7108 | Q9 {Q10/011|Q12/Q1310Q1410Q15]G16

Q17

2 4 4 3 2 2 3 1 4 3 2 | 4 1 2 3 4

Q181019020 Q21 [©221 Q23 [ 0241 Q25 | Q26 [ Q27] G28 [ Q29 [ Q30

2 2 4 1 4 3 1 4 2 3 |-3 i 1

31)a)i)hair  ii)feather

b)Bat Seal
Parrot platypus
Penguin

32)a)Food P.
b)The percentage of the undigested food is 100%.
c)When Animal Y was fed. .

33)a)BC. Ravi’s heart pamper faster to transport more oxygen to bum more

food so as to produce more energy.
b)Yes 1 agree. If his pulse rate went down to zero, that means he is dead

34)a)i)xylem ii)phloem

b)The water carrying tubes have been broken so water taken in by the stem
cannot be transported to the flower and leaves.

c)When the stem is cut diagonally, it has a larger increased exposed surface

area.

35)The plants will die as even thought there is evaporation, as the water
droplets slide to the side of the plastic sheet but not back into the pat without

water plants will die.
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Answer Key


36)a)X: respiratory system - Y: circulatory system
b)Carbon dioxide is needed for plants to make food.
C)W is richer in carbon dioxide than V.

37)a)The nucleus,
b)i)one. ii)Two.

38)a)The balance would go down at container E and go up at container F.
b)1500cms. Air has no definite volume and it takes the volume of its

container.

39)a)There are a two lamppost at both sides of him.
b)When an object block light.

40)a)Warm air rises and cold air sinks.
b)It the air-conditioner is placed near the ceiling, it can cool the warm air .
which rises from the floor. The cool air them sinks to keep the entire room cold

faster as compared to if it is placed on the floor.

41)a)Mist. '
b)The water vapour in the surrounding air loses heat and ¢ondenses to from

water droplets.
c)The water droplets gain heat from the surrounding air and eva porate to

‘from water vapour.

42)a)Mist would be found on the inner susface of the wind screen sand
window as the warm witer vapour msuie the car condenses on the cooler

surface of the glass aiid fori tiny drople'ts
b)He could turn off the heater

43)a)

i Diagram'1 ' R, SR

‘ ' bathroom {1 .

i — |

bedroom : | living roomy

b)Diagram 1 is a better way as the lamps are arranged in parallel so when
one fuses, the others will still remain lighted.
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44)a)Rods B and D are conductors of electricity but rods A and C are insulators
of electricity.

b)B1

c)DACB
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